s

'  #1R
B R K% @ 5 Ff 0L é&,}”}"‘iuiﬁﬁﬁ "
"mg zﬁi—;}}_aw R SRR ﬁ( i) /R

O T EIE RS R R -

(2053) 1. g

(1) Find the price elasticity ‘of demand for the. following functions at P =3

(@) Q=75- 5p
®b) og=4a2- 6P

(2) Find the price elasticity of supply for the following functions at P =3

(8) Q=-2+08pP
(b) Q-15P+3=0

2049)) 2. 3tEsE

(1) Given the demand function P, = 25 - Q?

and the supply function P, =2Q+1. Assum-
ing pure’ competition, find (a) the consum

ers surplus and (b) the producers’ surplus.

(2) Find the proﬁt~max1mxzmg level of profit for the mono
functions, =491-13p, -

Q2 =36-4P,

and the joint cost function ¢ = = Q1 +2QiQ,+ Qi+ 120

(2043) 3. frrza

p(olistic producer with the demand

(1) Law of Dummshmg Margmal Rate .of Substitution
(2) Natural Monopoly

(3) Liquidity Preference Theory B
(4) GDP
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(2043) 4. FIERE
Information about the economy of X is given as below :
* Autonomous Consumption Expenditure is $100
Marginal Propensity to Consume is 0.9
Investment is $460
Government Purchases of Goods and Services are $400
Taxes are a constant $400
Exports are $350
Imports are 10 percent of income
The government of X makes no transfer payments
(1) Calculate the slope of the Aggregate Demand Curve.

(2) What is the equilibrium level of income ?

-(3) The government cuts taxes to $300. What is the new equilibrium
income ? What is the tax multiplier ?

(4) The government simultaneously cuts both its purchases of goods
and services and taxes to $300. What is the change in equilibrium
income ? What is the name of the multiplier now at work ? And
What is its value ?
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